2
3> —
11)I\29 1 36 f><21 —G[_‘-'-?Q x ﬁ”"".—--...._..c
x2 _ T ) \
) (_5( — g‘c) ‘1 ’("I-C
2:7 11) b o C—
2SS
S , 5 -36 e -
1,_,.:; 5 2_7._-_...\28 27._,_,@
= ><-r6 X’Q ’TM_
Z BG‘*O /B

X

e e
q0<16) OI(x-L) q' (x?67+/ fh K"GJ

:'.740(



7(




Solve the problem.
13) A car moving with an initial velocity of 3 mph accelerates at the rate of a(t) = 2.1t mph per

second for 9 seconds. How fast is the car going when the 9 seconds are up?

14) A car moving with an initial velocity of 9 mph accelerates at the rate of a(t) = 2.6t mph per
second for 8 seconds. How far did the car travel during those 8 seconds?
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Find the area enclosed by the given curves.
15) Find the area of the region in the first quadrant bounded on the left by the y-axis, below by  15)

: 1 : ;
the line y =3% above left by y = x + 4, and above right by y = - x2 + 10.
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